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BE0000.)), new Employee("Scott", 20000.0));

double totalSalary = list.skream().map({e -> e.getSalary() * ratio}.reduce(starts, bo);

—_—
= bumps Employee.java # | Mainjava % |+
bi 1 import java.util.List;
G bin 7| Employee.java'@.util. function.BinaryOperator;
# 3
Ddﬂ.a 4 public class Main {
(9 sre 5 public static void main (String... args) {
List<Employee> list = List.of(new Employee("John",
double starts = 0.0;
double ratio = 1.0;
BinaryOperator<Double> bo = (a, b) =» a + b;
/{line 1
2 Syatem.out.println{"Total salary = " 4 totalSalary);
}
5]}
x

Console 1
otal salary = 170000.0

ompleted with exit code: 0

Which interface in the java.util.function package will return a void return type?
A. Supplier

B. Predicate

C. Function

D. Consumer

Correct Answer: D

Reference: https://www.geeksforgeeks.org/java-8-consumer-interface-in-java-with-examples/

QUESTION 2

Which two are successful examples of autoboxing? (Choose two.)
A. String a = "A";

B. Integer e = 5;

C. Float g = Float.valueOf(null);

D. Double d = 4;

E. Long c = 23L;

F. Float f = 6.0;

Correct Answer: AB

QUESTION 3

Given an application with a main module that has this module-info.java file:
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module main {
eXports country;
uses country.CountryDetails;

Which two are true? (Choose two.)

A. A module providing an implementation of country.CountryDetails can be compiled and added without recompiling the
main module.

B. A module providing an implementation of country.CountryDetails must have a requires main; directive in its module-
info.java file.

C. An implementation of country.countryDetails can be added to the main module.

D. To compile without an error, the application must have at least one module in the module source path that provides
an implementation of country.CountryDetails.

E. To run without an error, the application must have at least one module in the module path that provides an
implementation of country.CountryDetails.

Correct Answer: BD

Reference: https://stackoverflow.com/questions/49476559/java-9-error-not-in-a-module-on-the-modulesource-path
QUESTION 4

Which two statements independently compile? (Choose two.)

A. List
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